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number bond. Write a number sentence by crossing out from 10.

1) Peter has 9 strawberry cupcakes and 9 vanilla cupcakes. He ate one strawberry
cupcake. What is the total number of cupcakes left with Peter in all?
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2) Sophie has 10 Barbie dolls and 7 Cinderella dolls. She gave 6 Barbie dolls to
her friends. What is the total number of dolls left with Sophie in all?
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Sophie is left with ____ dolls.

3) Amanda has 8 oranges and 7 apples. She ate 2 apples. How many fruits are left?

BR XXX XXX X
(] ® ® ® ® ® 0 ®

Amanda is left with ____ fruits.
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